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B. A. (HONOURS) ECONOMICS 

(BAECH)  

Term-End Examination 

June, 2025 

BECC-106 : INTERMEDIATE MACRO- 

ECONOMICS—I  

Time : 3 Hours  Maximum Marks : 100 

Note : Answer questions from all the Sections as 

per instructions. 
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 Section—A 

Note : Answer any two questions from this 

Section in about 500 words each. 

 2×20=40 

1. Derive Aggregate Demand (AD) curve from 

IS-LM model. Explain the factors that shift 

the AD curve. 

2. Explain the concept of Adaptive 

expectations. Write down its basic equations 

and point out its advantages and 

limitations. 

3. Reconcile vertical long-run Phillips curve 

with the downward-sloping short-run 

Phillips curve. Explain with the help of a 

diagram.   
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4. Explain the IS curve in an open economy. 

What are the factors that lead to shift in the 

IS curve ? Explain. 

Section—B 

Note : Answer any four questions from this 

Section in about 250 words  

each. 4×12=48 

5. Suppose there is fall in demand for money at 

each level of income. Explain how this will 

affect the level of output and prices under 

the following conditions : 

(a) Keynesian Aggregate Supply (AS) 

(b) Classical Aggregate Supply (AS) 

6. In an imperfectly competitive market, how 

do firms set prices ? Explain.  
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7. Discuss the impact of expansionary fiscal 

policy on output and prices in the short-run 

and medium run.  

8. Briefly discuss the concept of rational 

expectations. Discuss its implications. 

9. Describe Dornbusch’s overshooting model. 

What are its implications ?  

10. Explain how equilibrium is attained in 

foreign exchange markets. 

11. Discuss asset market approach to exchange 

rate determination. 

Section—C 

12. Write short notes on any two of the following 

in about 100 words each : 2×6=12 

(a) Natural rate of unemployment 
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(b) Balance of Payments 

(c) Forward and Future Contracts 

(d) Labour force participation rate 
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 BECC–106 

ch- ,- (vkWulZ) vFkZ'kkL=  

(ch- ,- bZ- lh- ,p-) 

l=kar ijh{kk  

twu] 2025 

ch-bZ-lh-lh-&106 % e/;orhZ lef"V vFkZ'kkL=–I 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % lHkh Hkkxksa ls ;FkkfunsZ'k iz'uksa ds mÙkj fyf[k,A 

Hkkx&d 

uksV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj fyf[k,A 'kCnlhek 

500 izR;sdA 2×20=40 
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1- ldy ek¡x (AD) oØ dh IS-LM izfreku }kjk O;qRifÙk 

dhft,A os dkjd le>kb, ftuls AD oØ esa f[kldko 

vk ldrk gSA 

2- mik;ksth izR;k'kk dh ladYiuk dh O;k[;k dhft,A bldk 

vk/kkfjd lehdj.k fyf[k, vkSj blds xq.k&nks"k Hkh 

crkb,A 

3- nh?kZdkfyd mG/oZeq[kh fQfyIl oØ vkSj mlds 

vYidkfyd <yok¡ Lo:i ds chp lkeatL; LFkkfir 

dhft,A ,d js[kkfp= dh lgk;rk ls ;g izfØ;k 

le>kb,A 

4- ,d fuc±/k vFkZO;oLFkk esa IS oØ dh O;k[;k dhft,A 

IS oØ dks f[kldkus okys dkjd D;k gSa \ O;k[;k 

dhft,A 
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Hkkx&[k 

uksV % bl Hkkx ls fdUgha pkj iz'uksa ds mÙkj nhft,A 'kCnlhek 

250 izR;sdA 4×12=48 

5- eku yhft, fd vk; ds izR;sd Lrj ij eqnzk dh ek¡x esa 

fxjkoV vkbZ gSA O;k[;k dhft, fd fuEufyf[kr n'kkvksa esa 

bl ?kVuk ds mRiknu Lrj vkSj dherksa ij D;k izHkko  

gksaxs % 

(d) dsUth; ldy vkiw£r (AS) 

([k) 'kkL=h; (izfrf"Br) ldy vkiw£r (AS) 

6- ,d viw.kZ izfr;ksxh cktkj esa Qes± fdl izdkj dhersa r; 

djrh gSa\ O;k[;k dhft,A 
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7- vYi dky ,oa e/;e dky esa mRiknu vkSj dherksa ij  

,d foLrkjdkjh jktdks"kh; uhfr ds izHkkoksa ij ppkZ  

dhft,A 

8- rdZ'khy izR;k'kkvksa dh ladYiuk ij laf{kIr ppkZ 

dhft,A blds fufgrkFkks± dh O;k[;k Hkh dhft,A 

9- MkWuZcq'k dk vfrØe.koknh izfreku le>kb,A blds 

fufgrkFkZ D;k gSa \ 

10- O;k[;k dhft, fd fons'kh eqnzk cktkj esa larqyu fdl 

izdkj LFkkfir gksrk gSA 

11- fofue; nj fu/kkZj.k dh ifjlaink cktkj fof/k ij ppkZ 

dhft,A 

Hkkx&x 

12- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k,A 

'kCnlhek 100 izR;sdA 2×6=12 

(d) csjkstxkjh dh LokHkkfod (izkÏfrd) nj  
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([k) Hkqxrku 'ks"k 

(x) vfxze vkSj ok;nk vuqca/k 

(?k) Je'kfDr Hkkxhnkjh nj 

× × × × × 

 

 

 

 

 

 

 

 

 

 


